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* Draw and translate simple shapes on the coordinate plane, and reflect
them in the axes.
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Ramesh has plotted this quadrilateral on a four-quadrant coordinate grid.

If the quadrilateral is translated
4 squares to the right, what
will the new coordinates

of vertex A be?

(0,3) because the x-axis
coordinate will change from
-4 to O and the y-axis
coordinate will remain as 3.
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Ramesh has plotted this quadrilateral on a four-quadrant coordinate grid.
y

> If the quadrilateral is translated

3 squares down, what will the
new coordinates of vertex B be?

(-1,1) because the x-axis
coordinate will remain as -1, |
but the y-axis coordinate will
change from 4 to 1. |
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Ramesh has plotted this quadrilateral on a four-quadrant coordinate grid.

If the quadrilateral is translated
4 squares to the right and 5
squares down, what will the
new coordinates of vertex C be?

(3,-4) because the x-axis
coordinate will change from -1
to 3 and the y-axis coordinate

will change from 1 to -4.
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Ramesh has plotted this quadrilateral on a four-quadrant coordinate grid.

Quadrant 2 y Quadrant 1

> Describe any translation that
will result in vertex D being in
the fourth quadrant.

0 X
-5 -4 -3 -2 - 1 2 3 4 5
-1
-2
-3 There are many possible
4 translations. Check your
answer with a partner.

Quadrant 3 Quadrant 4
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Is this statement about one of the quadrilaterals on this four-quadrant
coordinate grid true or false? Explain your answer using reasoning.

Quadrant 2 d Quadrant 1
5

After a translation of 2 squares to
the right and 2 squares down, one
of the vertices of the kite
would be at (0,0).

False

The new coordinates of
the kite would be (-1,3),
(0,2), (-1,0) and (-2,2).

Quadrant 3 Quadrant 4
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Is this statement about one of the quadrilaterals on this four-quadrant
coordinate grid true or false? Explain your answer using reasoning.

Quadrant 2 d Quadrant 1
5

The rectangle is translated so that
one of the vertices is now at
(-3,-2). The only way to describe
the translation is 6 squares left.

False
The translations could also be:
8 squares left
6 squares left and 3 squares up
8 squares left and 3 squares up

Quadrant 3 Quadrant 4

- ol




o

Translations

Is this statement about one of the quadrilaterals on this four-quadrant
coordinate grid true or false? Explain your answer using reasoning.

Quadrant 2 d Quadrant 1
5

After a translation of 2 squares to
the right and 2 squares up, all of
the vertices of the parallelogram
will be in quadrant 1.

False

The coordinates of one of
the vertices would be (-1,1),
which is in quadrant 2.

Quadrant 3 Quadrant 4

e, 3
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Translate the shapes into
position to create the shaded
swan. Record your translations
and the starting and finishing
coordinates of the vertices of
each shape.
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Translate each shape into
position to create the shaded
swan. Record your translation
and the starting and finishing
coordinates of the vertices.

Shape:

101 Starting
Coordinates: =

Translation:

Finishing
Coordinates:

S
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Translate each shape into
position to create the shaded
swan. Record your translation
and the starting and finishing
coordinates of the vertices.

Shape:

101 Starting
Coordinates: =

Translation:

Finishing
Coordinates:
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Translate each shape into
position to create the shaded
swan. Record your translation
and the starting and finishing
coordinates of the vertices.

Shape:

101 Starting
Coordinates: =

Translation:

Finishing
Coordinates:
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Translate each shape into
position to create the shaded
swan. Record your translation
and the starting and finishing
coordinates of the vertices.

Shape:

101 Starting
Coordinates:

Translation:

Finishing
Coordinates:
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Translate each shape into
position to create the shaded
swan. Record your translation
and the starting and finishing
coordinates of the vertices.

Shape:

101 Starting
Coordinates:
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Finishing
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Translate each shape into
position to create the shaded
swan. Record your translation
and the starting and finishing
coordinates of the vertices.

Shape:

101 Starting
Coordinates:

Translation:

Finishing
Coordinates:
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1) Ramesh has plotted this triangle on  four quadrant coordinate grid. 6
s

@) Ifthe triangle is translated §
squares to the left, what will the new coordinates
of vertex A he?

b) Ifthe triangle is translated 3 squares up,
what will the new coordinates of vertex B be?

©)  If the triangle is transluted 5 squares to
the left and 3 squares up, what will the new
coordinates of

vertex C he?

2) James translates this parallelogram 3 squares to the right and § unit squares down. Draw the translated
parallelogram on the grid and give the new coordinate positions of the vertices. |—.
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Need Planning to Complement this Resource?

National Curriculum Aim

Draw and translate simple shapes on the coordinate plane,
and reflect them in the axes.

For more planning resources to support this aim, click here.

Twinkl Planlt is our award-winning scheme of work
with over 4000 resources.
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https://www.twinkl.co.uk/resources/planit-maths-primary-teaching-resources-year-6/planit-maths-primary-teaching-resources-year-6-geometry---position-and-direction/planit-maths-primary-teaching-resources-year-6-geometry---position-and-direction-draw-and-translate-simple-shapes-on-the-coordinate-plane-and-reflect-them-in-the-axes
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